13 mEnZiaE (Tl D) AN ERAEN A FrEE) | #iR
1 B g e 7 B 6 RAMI| 1t [2 2 fffo @7
=) 5} L=
_ — (RGBT F
810 m
[E9
o u]®
&S
i
W% L0 T i | @
{ EES B[ % % & m “HEeE n X ERE M
5
A“ﬁ 150, 000 12, 000
A sABRAReE M|EE
#[%| 150, 000 12, 000
2 MABEIREEE Y
@)

X RERREVELETIRE

DRBOMBM] —@fas g 3B AEL QWL T, HER Ol S48 IS A2 17
— AR A4E (B dEE A% o B E 0 A% il
— PRI HEIREFEE OFH O%A1%, BREEZE AR EFEO TS X 51
ﬁxﬁvbﬁ,ﬂ“ [—/% | DOFTHFX 5y @Bﬁr“%’ﬁﬁx HWHENS
“&1 105,000 = 5
150,000 —
AR EE
33,000 [EYES
5 45,000
12,000 BE
H O AR ERE
R 700 AR ER3E
(B EFE) TR 1B AEE) B CAHEIRERE=44, 400M
aar NEQO) BIR80 EHR1E| —ELL E(—HAM EfR%E 44, 400M)
= 138,000 [ R
(150, 0009 < 0. 3) —12,000=33,000H
(= KA T4 33,000 )
e 12,000 M
HiIE80 om (1 © B F.80
BE G 12,000 1
12,000 BEEM)
— BR800 fRAHN44, 400 (— muL)Oﬁ% HIE80D #7321

(7z72L, BIR80D

HWEREDIET N D ST-5E ., LT MR #H)




